
 

 

 :  01تمرين 

f 0;9

9753210x

00 f x

42

000

6

 f x

1  0;9( ) 0f x  

2 m( ) 1 2f x m  

3 f f x 

4 gh 
3

( ) 2g f x ( ) (3 )h x f x 

 gh 

  g x h x f x f x 

 gh 

02تمرين

g: الجزء الأول  3 22 1g x x x  

1 g 

2   0g x 010,1 

3 x g x
2

3 1

2







f:      الجزء الثاني  21 1 1

3 3 3
f x x x

x
  

 fC ; ,O i j
 

1 f 

2 x f x g x 

3 f 

4 3 
1

6 2
f





  f  

5 R  21

3
h x x hC 

  hC fC 

  fC hC

6  fC hC 

7   (sin 2 )k x f x 

 k x k x 

2014

  الفصل الأول–إختبار   للمراجعة 


